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1. 1- The direction of induced e:m.f in a circuit is in
accordance with conservation of e dn b &
momentum ("“Vr (D) energy &/ (C) charge vk (B) mass Jb (A)

2. Two small charged sphere are seperated by 2mm. Which J::',.w:f - Lf&«ﬂ4 AP 2mm f//x“’,ta/y L:@’ » -2
of the following would produce the greatest attractive force? ‘-‘J o u‘»" b( uﬁyup‘ P 2 L ...,l'?'l f =

—-4q » ~1q (B)
-2q » +2q (D)

~1q and -4q
+2q and -2q

3 - The number of neutrons intritium (BIH) is

3(D) 2(C)

4 - Isotopes are atoms of same eiement with different
number of protons & ¥ ?:’:{ (B)
JUL (D)

atomic mass

5-  Which form of energy is sound?

chemical JQ‘{(D) thermal J/“‘ )

6- Typical value of the voltage and current used for
thermionic emission from tungsten filament is
6V « 3A (D) 12V« 3A (C)

7- Which is the most suitable means of reliable continuous/

£

communication between an orbiting satellite and Ea;’?ﬂ?
ik (B
any light wave Jjs &AU féf( )

radiowaves

8. |f we double both the current and the voltage in e;"!
circuit while keeping its resistance constant, thgfpower
halves Jé_lgn' ,ﬁd (B)
quadruples gf b ;'g"lt'f/?b (D)

9 - The output of a two-input NOR gate is '1' vhen
B=1:«A=1(D) B£0 <A=0 (C)

have the same
tude 3£0% (C)

10 - In a vacuum all electromagnetic wav
wavelength E@,; (D) am

11- The index of refraction depends gn
the speed of light ¢ 4 § G (B)
the object distance ¢ b £ ¢ (D)

12 - Fax machine is also called

telephone u}Jf (D) telecom (b/d'f (C)

v
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nyfmber of electrons s 52 (A)

/ atomic number AL ()
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mechanical JQ‘C (B) electrical J’»]‘?f (A)
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microwaves Jzuf’t (A)

sound waves Jgs £3 (C)

A2 e N St e i i
/;& ;u”’) /bfufuiu é)u

remains unchanged §<.% o8 w

doubles Sebnth(©

- e Jﬁ 1 ’.&z{.&il'J;/,‘fjl: Lty il 9
B=1 « A=0(B) B=0:«A=1(A)
gt Gt WA U ks

frequency G (B) speed 4x (A)

e by SAF KD ST
the focal length ¢ #%U59 (A)
the image distance 4 o6 & &1 (C)

radio 4. (A)

telefacsimile u"%’ (B)
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PHYSICS Paper: II
Time: 1:45 Hours  Group:I SUBJECTIVE
Marks: 48

Note: Section I is compulsory. Attempt any TWO (2)

questions from Section IL
] ' Section - I

2 - Write short answers to any FIVE (5) questions. (2x5
i- How damping progressively reduces the amplitude
of oscillation? Explain.
ii - Define elastic restoring force.
iii- What is meant by mechanical waves? Give one example.
iv- What is meant by electric field and electric intensity?
v - If a high-voltage power line falls across your car while you
are in the car, why should S/ou not come out of the car?
vi- Which form of energy is stored in a capacitor?
vii- State Ohm's law. Write its formula.

viii- What is the difference between a cell-and a battery?

3 - Write short answers to any FIVE (5) questions.  (2x5
i- How can some whales communicate hundreds kilometers away.
ii- Why the voice of women is more shrill than that of men?
iii- What do you know about the term intensity level of the
sound. Write down its unit.
iv- What is meant by Super Computer?
v- What is difference between RAM and ROM memories?
vi- Whatis fax machine?
vii- Find the number of protons and neutrons in nuclide,

defined by '3 X ?

viii- Write down any two characteristics of gamma (y) rays.

4 - Write short answers to any FIVE (5) questions.  (2x5
i- Define concave mirror by drawing its diagram.
ii- How light pipe is useful in our daily fife?
iii - What is refractive index? Write down its formula.
iv - Define mutual induction by drawing its diagram.
v- Name any two devices in which relay is used.
vi- Define NOR gate. Make its truth table.
vii- What is analogue electronics? Give one example.
viii - NAND gate is the reciprocal of AND gate. Explain.
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Section - II (»JD

Note: Attempt any TWO (2) questions. 5[ U/ ~12 L :;QI:‘ZL sy (2) we J:( Y
B - (a) Prove that motion of a simple pendulum is simple (4) o J/Jw{(f{uﬁr JH»:*J{IZ{ e () - b

harmonig motion. —

(b) Two charges repel each other with a force of 0.1N  (B) ;/J)yﬁa,?um,‘“ﬁﬁé 5cm o 2/ 9 (&)

when they are 5cm apart. Find the force between L ZA; Gl -t L/ ('3) & JJ} J 0.1N '
the same charges when they are 2cm apart. &6 L 2cm T g‘;r;b’c,xf d/w;’uyu
< éz ZZ} 4
6 - (a) What is meant by half-iife of radioactive element? @ e e oy e Kighs (I -6
_’é wo\os e sk g

Explain with the help of graph.
(b) A doctor counts 72 heart beats in 1 minute. (5) J-s Fm 728 b e Ay ()
g L FEIS U
s € ol L6 S B F Bl () =T
e L s

Calculate the frequency and period of heart beats.
7 - (a) What is simple microscope and derive the fomula of  (4)

magnifying power with diagram.

(b) A transformer is needed to convert a mains 240V (5)  rUie 12V § 240V 2617 il L ()
supply into a 12V supply. If thete are 2000 turns on Ju,/é U J?fd/f/? Ju’l A e /J,v"
the primary coil, then find the numiber of turns on Jw/g; S NNy % §' Ut 75t 2000 o

-é (;"‘")D}

the secondary coil.
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1. 1- The relation between v, fand X of a wave is
v=MAf (D) vi=f (C)

2 - For a normal person, audible frequency range for
sound wave lies between

30 Hz - 30 kHz (D) 25 Hz - 25 kHz (C)

3 - Which is an example of longitudinal wave?

water wave #s /s (D) radio wave #s¢4. (C)

4 - faray of light in glass is incident/on an air surface

at an angle greater than the critical angle, the ray will

reflect only &% i~ (B)
diffractonly £33 3 (D)

5- Capacitance is defined as
V/Q (D) QV (©)

6 - The combined resistance of two identical resistors,

K
light wave 4 Ju’u (B

connected in series is 8 2. Their combined resistance

in a parallel arrangement will be

12Q (D) 8Q (C)

7 - Which device is practical application of mutual induction?

transformer 41/ (B)

solenoid ¥y (D)

8- The logical operation performed by this gate is
B

OR T (D) NAND %z (C)
9- If X=A-B, thenXis'1'when,
A=1,B=1(D) A=0,B=1(C)

10 - What does the term e-mail stand for ?
electronic mail  J7 6341 (B)
external mail J:‘J/"/fl (D)

11- What happens to the atomic number of an element

emits one alpha particle?
stays the same £y U0/ &7 ®)

decreasesby 1§l ¢ LI (D)
12 - Whatis the S.I unit of radio activity?
Bq (D) W (C)

116-(D)-15t A 224-76000

&< quy» & i’%‘) 2l

fA=v (B) vi=X (A)
e S S 230 o S5 SHTre Ll -2

10 Hz - 10 kHz (A)
c‘_dt‘/Jzﬁwag’ -3

sound wave s k3L (A)

20 Hz - 20 kHz (B)

SeFi b Clne. S Gue A -4
Lfm./?m.c, K S K L s K

refract only A (A)

partially refract and partfally reflect e m{ ook ¥ & (C)

e deStrufE st s
Q/V (B) VC (A)
u.JJJ)//J/C.gbgnézc—flcgi—/gz/{ -6
uchJﬁLﬂ;)J’/ﬁ—%Sflj)fb/

Y L:(J}f KUJ//J
40 (B) 2Q (A)

se- QM I £ P Ss sl -7
electric motor S (A)

J4(C)

te. Vﬁgj‘bgﬁ{rgﬁu Ul e JJ’ -8

ammeter

NOR .t (B) AND %l (A)
//«Jn{"I'J:JXJ’M X=A-BJ -9
A=0,B=0 (B) A=1.B=0(A)

e ¥ e SIS <10
emergency mail J5 41 (A)
extra mail Ji’!}{f (©)

Je /ol Ly ol et i 11
Wey Yy AL L
increases by 1 § &b ok L1 (A)
decreasesby2 ¥ (1 (C)

e Sy sivi iyt -12

V (B) rem (A)

.;g/’roj/i}; J{/}u‘g -1,
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Time: 1:45 Hours Group:II SUBJECTIVE - Jus SYIPIY SULEC

Marks: 48 e o' ~2~2H 48: /0

Note: Section I is compulsory. Attempt any TWO (2) (2) ne J:( e fn o -4y i s
questions from Section IL -J AN 4 L =iy

Section - I JJ' -
9 - Write short answers to any FIVE (5) questions. (2x5=10) -é/fuu:’/"’f_uﬂlr (5) é be :.Sf 2

i- Define restoring force and write down its formula. _Zf‘f U B sl éq{/} Juu’ S =i
ii- Whatis the difference between amplitude and displacement. e J4 L[u:‘ .yﬁ&u'} ) st uﬁ/"i -1

iii- Prove that v =f} y=fh & b -iii

iv- What is the function of electroscope? e uzg Q’K_{;Q}?I -1iv
v- If the distance between the two charges is doubled, what JJ}’ \,Jf? b L:/J» S& un £ vo'e /7

will be the effect on Coulomib's force? ey Yy

vi- Write down two properties of electric field lines of force. -Eff 7 f c.,L»r“" 2 J J/}JT '/"/U J/’gi -vi
vii- Does a fuse in a circuit, control the potential difference or L/d;//u‘/’;d/? 8 u{/J/'O’ u’K - vii
c{ ool (’f_//

the current. Explain.

ol SuIF L A - i

viii- Explain Ohm's law.

3 - Write short answers to any FIVE (B) questions.  (2x5=10) -Q{{iaylﬁ/ﬁﬁam}' (5) é& = JJ(' 3

i- Define pitch of sound. Give one example. ZJe e s Ve € Jhs i
- Whatis the effect of amplitude of vibrating body on S twe S S ST MEHL S B -
joudness of sound?
iii- Calculate the frequency of sound waves of speed 340ms™ 340ms™ Ar 4L 6 &5 ad G ksl il
and wavelength 0.5m. s 0.5m ié‘)z,w,

iv- Write down any two advantages of Internet in our life. el 3 qui’ di‘j U & el -iv

v- How softwares are helpful in computers? Sff 3w ik Bra L ind by v
vi- How photophone is better than a common phone? e }1‘4:; u:"(u d}i} -vi
vii- Define atomic number and give one example. Sy Je L a‘SJ/"J/Jw - vii

viii- Whatis the difference between natural and artificial radioactivity? e JAY G EAPTIN QB -viid
4 - Write short answers to any FIVE (5) questions.  (2x5=10) -i//’..atl?/""[. =l (5) é be Jf 4

i- Explain the refractive index of a material. LEE 2ol SUis g & J/Lf/ =1

ii- What do you know about light pipe? bt LT -
iii- Explain the conditions for total internal reflection. chi: woles JLJ!; J u’gj J}v! J’:ﬁ -
iv- Can a transformer operate on direct current? Write down ¥t e S 47 Sk A1/ kf -iv

its principle. Lol J’f/

v- State Lenz's law. kA -y
vii- Explain two universal logic gates. _EE 2ol JJJJU Jokg v
vii- How electrons are deflected to specific position on a ) d/vﬁ); u"/’zd;! i:}?% g[/ﬁu*/‘:di‘ - vil

television screen? S don qf Iy

viii- What is NAND gate? Draw its truth table and symbol. el Jal KAt oS ke - vidd

CARD) é
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Section - IT (».b

Note: Attempt any TWO (2) questions. [/U/( 2= 2y <& .:vgii![..pﬂlr‘ (2) we J:( s
5 - (a) Define simple harmonic motion. Explain with diagram (4) (’fu S (l//gij ..zf—’-’(u.{!/’j(fjf Jru; - 5

that motion of simple pendulum is simple g 3 5 7
harmonie motion. i ~F-8H Jn‘L J:rw, JHU:* ul/f'é
(b) By applying a potential difference of 10V across a (5) u’ifl - 10V W Jf‘i} SIAL /‘J/,‘J_,g Cnco)
conductor, a current of 1.5A passes through it. How much e &S U in e e 15A e }Qf
energy would be obtained from the current in 2 minutes? ‘.’Jn pr M djfdi T
(4) e s Y K L S P () g

6 - (a) Internet is a useful source of knowledge and
information. Explain.
(b) A sound wave has a frequency of 2kHz and (5) 2kHz ol ;‘%, P I RII okl e

LSS Lob§ 1.5Km et Ut 35cm
¥ v K oy A
77-2‘:'."_::;, 4 Jdﬁwu, J-.;}C}/,.C/L b () i

_Z’.:.::«?U;

wavelength 35cm. How Idng will it take to

travel 1.5Km?

7 - (a) Explain simple microscope with the help of diagram. “4)

How can you find its magnifying power? fur e /r}"‘d:;;g J?UJ?JJ!

(b) A transformer is needed to cofivert a mains 240V (5)  * Ueet 12V 240V 2t it T ()
supply into a 12V supply. If there aré-2000 turns on Susk Lﬂf‘j/l{ JJI//!,% 3] /J/?
the primary coil, then find the number of turns on the Ju;/‘g L kﬁfu’/,i‘l? d/gﬂ # 5 2000 sl
b

secondary coil.
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